
1 of 4 ISSUED: 11-11-05  SHEET #: 202-9060-3  12-06-06

PLP-UNL PLP-UNL-S PLP-UNLP PLP-UNLP-S
Description Qty Part # Part # Part # Part #

AA adapter bracket 1 201-1110 201-4110 201-1110 201-4110
BB shallow adapter bracket 2 200-0756 200-0757 200-0754 200-0755
CC deep adapter bracket 2 200-0752 200-0753 200-0750 200-0751
DD allen wrench 1 560-9646 560-9646 560-0072 560-0072

   EE M5 x 10mm screw 4 520-1063 520-1063 520-9250 520-9250

Before you begin, make sure all parts shown are included with your product.

Parts List

DD

CCBB

Installation and Assembly - Universal Adapter
Bracket for 32" - 60" Flat Panel Screens

Models: PLP UNL, PLP UNL-S,
PLP UNLP, PLP UNLP-S

 IMPORTANT! Read instruction sheet before you start installation and assembly.

AA

Used with specific
mounts only EE



2 of 4 ISSUED: 11-11-05  SHEET #: 202-9060-3  12-06-06

M5 x 25 mm (4)
520-1122

M4 x 12 mm (6)
510-1079

M4 x 25 mm (4)
510-1082

M5 x 12 mm (4)
520-1064

M6 x 12 mm (4)
520-1050

M6 x 25 mm (4)
520-1211

I.D. 5.6 mm (4)
540-1057

multi-washer (6)
580-1036

I.D. 8.7 mm (4)
540-1059

Security Adapter Bracket Fasteners

M6 x 20 mm (4)
520-9554

M6 x 30 mm (4)
520-1067

M8 x 15 mm (6)
520-1068

M8 x 40 mm (4)
520-1152

M8 x 25 mm (4)
520-1101

M6 x 20 mm (4)
520-9402

M6 x 30 mm (4)
510-9109

multi-washer (6)
580-1036

M8 x 16 mm (6)
520-9257

M8 x 40 mm (4)
520-1136

M4 x 12 mm (6)
504-9013

Phillips Adapter Bracket Fasteners

M4 x 25 mm (4)
504-1015

M5 x 12 mm (4)
520-1027

M5 x 25 mm (4)
520-9543

M6 x 12 mm (4)
520-1128

M6 x 25 mm (4)
520-1208

I.D. 5.6 mm (4)
540-1057

M8 x 25 mm (4)
520-1031

I.D. 8.7 mm (4)
540-1059



3 of 4 ISSUED: 11-11-05  SHEET #: 202-9060-3  12-06-06

Note: "X" dimensions should be equal.

• Tighten screws so adapter brackets are firmly
attached. Do not tighten with excessive force.
Overtightening can cause stress damage to
screws, greatly reducing their holding power
and possibly causing screw heads to become
detached. Tighten to 40 in. • lb (4.5 N.M.)
maximum torque.

WARNING

Installing Adapter Brackets
Refer to Screen Compatibility Chart to determine the proper fasteners to use.

To prevent scratching the screen, set a cloth on a flat, level surface that will support the weight of the screen. Place
screen face side down. If screen has knobs on the back, remove them to allow the adapter brackets to be attached.
Place adapter brackets (BB or CC) on back of screen, align to holes, and center on back of screen as shown in
figure 1.1. Attach the adapter brackets to the back of the screen using the appropriate combination of screws, multi-
washers, and spacers as shown in figure 1.3.

Note: Top and bottom holes must always be used.

Verify that all holes are properly aligned, and then tighten screws using a phillips screwdriver.
Note: Tighten using security allen wrench (DD).

• If screws don't get three complete turns in the screen
inserts or if screws bottom out and bracket is still not
tightly secured, damage may occur to screen or
product may fail.

WARNING

MEDIUM HOLE FOR M5
SCREWS

SMALL HOLE FOR M4
SCREWS

LARGE HOLE FOR M6 SCREWS

fig. 1.2

BB
or
CC

CENTER BRACKETS
VERTICALLY ON BACK OF
SCREEN

X

X
fig 1.1

Notes:

• The number of fasteners used will vary,
depending upon the type of screen.

• Multi-washers and spacers may not be
used, depending upon the type of screen.

• Use the corresponding hole in the multi-
washer that matches your screw size as
shown in figure 1.2.

SCREWS

SPACERS

BB or CC

fig 1.3

MULTI-
WASHER

MULTI-WASHER

1



4 of 4 ISSUED: 11-11-05  SHEET #: 202-9060-3  12-06-06

Mounting and Removing Flat Panel Screen
Refer to mount instruction sheet for attachment of adapter bracket to mount.

Hook adapter brackets (BB or CC) onto adapter bracket (AA), then slowly swing screen in as shown. Turn screws
clockwise at least six times to prevent screen from being removed as shown in detail 1.
Note: Tighten using security allen wrench (DD).

Screen can be adjusted horizontally if desired.

Note: To lock the screen down, tighten screws to adapter bracket as shown in detail 1.

To remove screen from mount, loosen screws, swing screen away from mount, and lift screen off of mount.

2

AA

BB or CC

DETAIL 1

 SCREWS

AA

BB
or
CC

• Always use an assistant or mechanical lifting equipment to safely lift and position the plasma television.

WARNING

© 2005 Peerless Industries, Inc.  All rights reserved.
Peerless is a registered trademark and Smart mount is a trademark of Peerless Industries, Inc.
All other brand and product names are trademarks or registered trademarks of their respective owners.




